STAT 201: Elementary Statistics Session 13 & 14
Exam II1
Instructor: Haigang Liu

1. (80 points) The top free throw shooters in NBA usually have about 85% chance of making
any given free throw. Suppose one player, say Kevin Durant, shot 10 free throws in a game.
Answer the following questions.

a) Let X be the number of shots that Kevin made. What assumption should be checked before
claiming that X has a binomial distribution?

b) Suppose X has a binomial distribution. Find its mean and variance.

¢) Find the probability that he missed at most 1 free throws. Hint: The probability formula for
binomial distribution is given by

|
n. n—x

P(X=z)= I p*(1—-p)

Czln—x
Besides, the mean and variance of binomial distribution is given by

EX = np,
Var(X) = np(1 — p).

2. (10 points) The wingspan of recently cloned monarch butterflies follows a normal distribution
with mean 8 inches and standard deviation 0.75 inches. Answer the following questions.

a) What is the proportion of butterflies has a wingspan less than 7 inches? (You can either
write down the R code directly, or use a z-score table, which is given in next page.)
b) What is the proportion of butterflies has a wingspan wider than 9 inches? (You can either
write down the R code directly, or use a z-score table, which is given in next page.)

3. (15 points) Construct the sampling distribution of the sample proportion of heads obtained
in the experiment of flipping a balanced coin three times.

4. (30 points) In the 2008 General Social Survey, respondents were asked if they favored or
opposed the death penalty for people convicted of murder. Researchers had a sample size of
1902, and 1163 of them are in favor of death penalty. Answer the following questions.

a) Find p, i.e., the sample proportion of people who say yes.

b) Find the 95% confidence interval of the sample proportion.

c¢) Interpret the 95% confidence interval. Hint: The formula that you might need is
R p(1—p)

s.e.(p) = a0

and the confidence interval is given by (p — z4 - s..(p), D + 24 - s.€.(P)).

5.(15 points) Answer the following questions.

a) Suppose X ~ N (u,0?), which is normal distribution with mean u and standard deviation o,
what is the sampling distribution of X? Give the name of distribution, and clarify its parameters.
b) Suppose we have two populations, one follows Binomial(n,p = 0.5) and the other follows
Binomial(n,p = 0.9). Which one converges faster to normal?

¢) State, in plain English, the Central Limit Theorem.
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Z. Score Table- chart value corresponds to area below z score.
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0.0329
0.0409
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0.0618
0.0749
0.0901
0.1075
0.1271
0.1492
0.1736
0.2005
0.2296
0.2611
0.2946
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0.3669
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0.4443
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